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7,000+ 1521 *2IH Abx 12 2,520
S STz HMSE Z38Y MES
400,000 12& 4,800
NZHSE Web Hard At = 150,000+ 12& 1,800
ANEEZE 23 S| 5,040
02 23244l 19,368 18,228 1,140
VIRA! &S XY 884,638,000%2% 17,693
AHEIAL EH| = X8I 83,732,000%2% 1,675
202 O4Hl 12,600 12,600 0
02 AN 12,600 12,600 0
AHEIAL, VIRA 2@ MO
150,000+7 & «12& 12,600
206 M=l 33,040 27,940 5,100
01 M= 4l 33,040 27,940 5,100
SWALX Q15 S W2 11,240
HHE(422 2 HD Beta) HIOIZ 60,000+404 2,400
I=EEBES WA 15,500
- 1282 & HD Beta HIOIZ 150, 000* 704 10,500
- 50G XDCAM HD ClA 3 100, 000+507H4 5,000
IIEZ(VHS) HIOIZ 3,000%3007H 900
HESE Jt0lct 2tdiel 750,000%4 4 3,000
405 XH&HFSHI 87,060 142,500 AbB5,440
01 XALSEFHSHI 87,060 142,500 N55,440
HICIQ &I (NLE system) 14! 80,000
a2l 2 Sols 4,400
- ZAE StOlet &bt 1,000, 000*2JH4 2,000
A2 =ollE 1,200,000%2H 2,400
Jtoilet Ot 600, 000%2I4 1,200
Photoshop CS3(V10) 1,460
BY2YJH (B2 30,076 28,680 1,396
ol 2| 3,000 3,000 0
ol 2| 3,000 3,000 0
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